BAPUAPT 1

1. PpeoGpasyiiTe B MHOTOUJIeH:
a) (a+4)% B) (79 — 3)(Tg + 3);
6) (3a — 6)%; r) (8¢ + 7d)(8g — 7d).

2. Ynpocrure Bhipamenue: (d — 6)? — (36 + 3d).

3. PasiomuTe HA MHOMKUTEIN:
a) p* — 16; 6) 81t% — 18ts + s,

4. Pemure ypasuenue: (8 —y)* —y(y +5,5) = 42.5.

5. Boimoanute peficTBuf:
a) (d* —4f)(4f + &%); 6) (t' - 7t)% B) (t —a)*(t+a).

6. PasiomuTe HA MHOMKUTEIN:
a) 16d%g* — 9b%;  6) 49b* — (b+ 10)%;  B) 64w + n”.

(©A.P.Illectaros, 1994

BAPUAPT 2

1. PpeobpasyiiTe B MHOTOU/IEH:
a) (7d — 2)%; B) (e = T)(e+T7);
6) (4d + e)?; r) (6e 4 7a)(6e — 7a).

2. Ynpocture Bbipaskenue: (d 4+ v)(d —v) — (5d* — v?),

3. PasiomuTe HA MHOMKUTEIN:
a) 64y* — u%; 6) u? + 1dut + 49¢2,

4. Pemnte ypasuenue: 16 — (4 — u)? = u(1l — u).

5. BeimoaauTe neiicTBUA:
a) (6a — ¢*)(6a + €*); 6) (6y° 4+ y)* B) (64 f)*(6 - f).

6. PasiomuTe HA MHOMKUTEIN:
a) 100¢® — 31—6a2; 6) 4d* — (d+5)% B) 2%+ nd.

(©A.P.Illectaros, 1994



BAPUAPT 3

1. PpeobBpasyiiTe B MHOTOU/ICH:
a) (b—5)% B) (6¢ — 3)(6¢ + 3);
6) (7b + c)?; r) (7c 4 5e)(7c — 5e).

2. Ynpocrure Bhipamenue: (¢ — 5)? — (25 — 5¢).

3. PasiomuTe HA MHOMKUTEIN:
a) 49 — u?; 6) 16v* — 8vq + ¢°.

4. Pemnte ypasuenue: 12 — (3 — w)? = w(4,5 — w).

5. BeimoaauTe neiicTBUA:
a) (¢* = 5D)(5b + ¢?); 6) (8 + %)% B) (2— f)*(f+2)*

6. PasiomuTe HA MHOMKUTEIN:
a) 16e* — 49a%f%;  6) (a —4)? —16; B) y* — 12505,

(©A.P.Illectaros, 1994

BAPUAPT 4

1. Ppeo6pasyiiTe B MHOIOY/IEH:
a) (5¢+6)%; B) (b—8)(b+ 8);
6) (5c+ D)% r) (3b+ 8¢)(3b — 8¢g).

2. Ynpocture Bbipaskenue: (c+ t)(c —t) — (c* + 5t2).

3. PasiomuTe HA MHOMKUTEIN:
a) 100p? — 1; 6) r? + 1dra + 4922,

4. Pemure ypasuenue: (3 —y)> —y(y +9) = —21.

5. BeimonnuTe neiicTBus:
a) (6a — d?)(6a + d?); 6) (t — 3tY)% B) (t+ ¢)*(t — )%

6. PaznomuTe Ha MHOMKUTENN:

a) 7sc® — 0.360%  6) (e+8)* —100e?;  B) ¥ — 8m”.

(©A.P.Illectaros, 1994



BAPUAPT 5

1. PpeobpasyiiTe B MHOT0OY/IeH:
a) (e—|—3)2; B) (8a —7)(8a + 7);
6) (3e — 8)% r) (3a 4 3d)(3a — 3d).

2. Ynpocrure Bhipamenue: (¢ — 7)% — (49 + 3¢).

3. PasiomuTe HA MHOMKUTEIN:
a) w? — 100; 6) 36s? — 12s5u + u*.

4. Pemure ypasuenue: (5 —y)> —y(y +7,5) = 112.5.

5. BoinmonnuTte neiftcTBuUA:
a) (b2 — 10¢g)(10g + b2); 0) (t3 — 8t)2; B) (t — 0)2(t + 0)2.

6. PasiomuTe HA MHOMKUTEIN:
a) 16¢*h* — 64d%;  6) 4d*> — (d+6)%;  B) 27u® + n’.

(©A.P.Illectaros, 1994

BAPUAPT 6

1. PpeobpasyiiTe B MHOT'0U/IEH:
a) (2e —6)*; B) (f =7)(f+7);
6) (4e + f)*% r) (4f + 6b)(4f — 6b).

2. Yupocrute Boipamenue: (d + u)(d — u) — (2d? — u?).

3. PasiomuTe HA MHOMKUTEIN:
a) 4p* — t% 6) t* + 16tw + 64w?.

4. Pemnte ypasuenue: 18,5 — (4 — t)? = ¢(7,5 — t).

5. BeimoaauTe neiicTBUA:
a) (6g — f*)(6g + f?); 6) (Tu’ +u)*; B) (34 a)*(3—a)’.

6. PasioskuTe Ha MHOMUTEIIN:
a) 36f° — 31—692; 6) 64c* — (c+6)%  B) yo + mS.

(©A.P.Illectaros, 1994



BAPUAPT 7

1. PpeobpasyiiTe B MHOT0OY/IeH:
a) (¢ — 8)% B) (50— 6)(5b+ 6);
6) (4c + b)%; r) (7b+ 8e)(7b — 8e).

2. Ynpocrute Bhipamenue: (¢ — 7)% — (49 — 2¢).

3. PasiomuTe HA MHOMKUTEIN:
a) 9 — u?; 6) 36t% — 12ty + y*.

4. Pemnte ypasuenue: 75 — (8 — x)* = x(5 — x).

5. BeimoaauTe neiicTBUA:
a) (f2—10)(10c + f2);  6) Bu+u')%  B) (2-c)(c+2)2

6. PasiomuTe HA MHOMKUTEIN:
a) 25f% — 16a%?*; 6) (a —7)?—25; B) v% —8n’.

(©A.P.Illectaros, 1994

BAPUAPT 8

1. PpeobpasyiiTe B MHOTOU/IEH:
a) (2d+4)%; ) (a—4)(a+4);
6) (4d + a)?; r) (3a + 5e)(3a — 5e).

2. Ynpocture Bhipaskenue: (e + v)(e —v) — (e? + Tv?).

3. Pasznomxure Ha MHOMKUTENU:
a) 64¢% — 0,04; 6) y* + 20yp + 100p°.

4. Pemnte ypasuenue: (8 —w)? — w(w + 7,5) = 87,5.

5. BeimoaauTe neiicTBUA:
a) (8b— fH(8b+ 2 8) (- 1009%  B) (v +d)2( - d)2

6. PasznokuTe Ha MHOMKUTEIN:
a) 7ce? — 0,49a%  6) (c+5)? — 16¢*;  B) w — 64mC.

(©A.P.Illectaros, 1994



BAPUAPT 9

1. Ppeo6pasyiiTe B MHOTOUJIEH:
a) (f+6)%  B) (2 —5)(2¢ +5);
6) (2f —2)% r) (6e 4+ 3b)(6e — 3b).

2. Ynpocrure Bhipamenue: (g — 5)? — (25 + 5g).

3. PasiomuTe HA MHOMKUTEIN:
a) r? — 36; 6) 81w? — 18wx + 2.

4. Pemnte ypasuenue: (2 —w)? — w(w + 8,5) = —33.5.

5. BoinoanuTe gefdcTBUSA:
a) (? —4f)(4f + %) 6) (' =50)% ) (v —g)*(v+g)"
6. PasioskuTe Ha MHOMUTEIIN:
a) 25a%b* — 36et;  6) 64e? — (e +4)%  B) 12507 + m°.
(©A.P.Illectaros, 1994

BAPHUAPT 10

1. PpeobpasyiiTe B MHOT'0U/IEH:
a) (3e — 3)% B) (b—3)(b+ 3);
6) (4e + b)%; r) (8b+ 7d)(8b — 7d).

2. Yupocrute Bhipamenue: (¢ + x)(c — ) — (2¢ — 2?),

3. PasiomuTe HA MHOMKUTEIN:
a) 100y* — u?; 6) u? + Sur + 1612

4. Pemnte ypasuenue: 49 — (5 —t)* = (2 — t).

5. BeinonHuTe neiicTBuA:
a) (49 — b?)(4g + b%); 6) (Tv* 4 v)*; B) (2+a)*(2—a)

6. PaznomuTe Ha MHOMKUTENN:

a) 16a® — {ze?;  6) 1000* — (b+10)%;  B) 34 m.

(©A.P.Illectaros, 1994



BAPUAPT 11

1. PpeobpasyiiTe B MHOTI'OUJIEH:
a) (¢ —6)% B) (89 — 6)(8g + 6);
6) 3¢+ 9)*% r) (6g + 6e)(6g — Ge).

2. Ynpocrure Bhipamenue: (¢ — 6)? — (36 — 2¢).

3. PasiomuTe HA MHOMKUTEIN:
a) 49 — w?; 6) 36p* — 12px + 22

4. Pemnte ypasuenue: 24 — (4 —t)* = t(4 — t).

5. BeimonnuTe neiicTBus:
a) (a? —9¢)(9e + a?); 6) (5u+ ut)? B) (10 — ¢)%(g + 10)%

6. PasznokuTe Ha MHOMKUTEIN:
a) 100e* — 36g%d*; 6) (g —5)* —100; B) w® — 64m°.

(©A.P.Illectaros, 1994

BAPUAPT 12

1. PpeobpasyiiTe B MHOTrOU/IeH:
a) (2b+35)%  B) (e =T)(e+7);
6) (70 + €)?; r) (7e + 6g)(7e — 6g).

2. Yupocrute Bhipasenue: (¢ + w)(c — w) — (c? 4+ 2w?).

3. PasiomuTe HA MHOMKUTEIN:
a) 25s% — 0,81; 6) r2+ 12rx + 3622

4. Pemute ypasuenue: (2 —w)? — w(w + 4,5) = —21,5.

5. BeimoaauTe neiicTBUA:
a) (10d— f)(10d+ f2);  6) (w—9uh%  8) (w+b)w— b2,

6. PasznokuTe Ha MHOMKUTEIN:
a) 5ea? — 0,36 /% 6) (d+10)* — 36d%;  B) 2% —27Tm°.

(©A.P.Illectaros, 1994



BAPUAPT 13

1. PpeobpasyiiTe B MHOT'0UJIEH:
a) (f +4)% B) (4b — 6)(4b + 6);
6) (3f —6)% r) (8b+ 2¢)(8b — 2¢).

2. Ynpocrure Bhipamenune: (¢ — 1)? — (1 + 3¢).

3. PasiomuTe HA MHOMKUTEIN:
a) y* — 16; 6) 4922 — 14ap + p°.

4. Pemnte ypasuenue: (4 —v)? —v(v + 3,5) = —30.

5. BeimoaauTe neiicTBUA:
a) (62 — 7d)(7d + 62); 0) (t4 — 6t)2; B) (t — b)Q(t + b)2.

6. PasiomuTe HA MHOMKUTEIN:
a) 16g%f* — 25a*;  6) 36a* — (a +6)%  B) 6405 + nS.

(©A.P.Illectaros, 1994

BAPHUAPT 14

1. PpeoGpasyiiTe B MHOI'0U/IEH:
a) (6g—8)%  B) (c—4)(c+4);
6) (8g + )% r) (7c 4 8e)(7c — 8e).
2. Ynpocture Bhipaskenue: (c+ s)(c — s) — (8¢ — s?).

3. PasiomuTe HA MHOMKUTEIN:
a) 1000? — 2% 6) 2% + 16xr + 6412,

4. Pemnte ypasuenue: 20,5 — (8 — )2 = ¢(1,5 — t).

5. BeimoaauTe neiicTBUA:
a) (7f = &*)(7f + d*); 6) (8v* +v)*; B) (34 0)*(3 —b)%

6. PasiomuTe HA MHOMKUTEIN:
a) 16g° — 31—6a2; 6) 100e? — (e +10)%;  B) 25+ n°.

(©A.P.Illectaros, 1994



BAPUAPT 15

1. PpeoGpasyiiTe B MHOTOUJIeH:
a) (e —T7)% B) (29 —7)(29 4+ 7);
6) (Te +g)* r) (29+7f)(29 = 7f).

2. Ynpocrure Bhipamenue: (d — 3)? — (9 — 5d).

3. Pasio;uTe Ha MHOMUTEIIN:
a) 100 — y*; 6) 64p* — 16ps + s

4. Pemnte ypasuenue: 14,5 — (4 — 2)? = 2(7,5 — ).

5. BeimonnuTe neiicTBus:
a) (a? — 5b)(5b + a?); 6) (8w + w?)?% B) (5—e)%(e+5)%

6. PasiomuTe HA MHOMKUTEIN:
a) 25e® — 64b%d*;  6) (b— 10)? — 25; B) v% — 64n’.

(©A.P.Illectaros, 1994

BAPUAPT 16

1. Ppeo6pasyiiTe B MHOIOY/IEH:
a) (4d + 6)%; B) (b—4)(b+4);
6) (5d + D)% r) (3b+ 3¢)(3b — 3g).

2. Ynpocture Bbipaskenue: (c+ t)(c —t) — (c* + Tt?).

3. Pasznomxure Ha MHOMKUTENU:
a) 49y* — 0,36; 6) p*> + 20pw + 100w?.

4. Pemute ypabuenue: (4 —u)? — u(u +4) = 28.

5. BeinonHuTe neiicTBuA:
a) (Tb— fA)(Tb+ f*);  6) (y—3y")%  B) (y+9)*y—9)°

6. PasznokuTe Ha MHOMKUTEIN:
a) orf? —0,360%  6) (a+4)? —64a?;  B) w® — 125m°.

(©A.P.Illectaros, 1994



BAPUAPT 17

1. PpeobBpasyiiTe B MHOTOU/ICH:
a) (e +3)% B) (7b — 8)(7b + 8);
6) (3e — 6)%; r) (2b 4+ 4¢)(2b — 4c).

2. Ynpocrure Bhipasenue: (e — 2)* — (4 + Ge).

3. PasiomuTe HA MHOMKUTEIN:
a) s — 100; 6) 64¢° — 16qx + 22

4. Pemnte ypasuenue: (3 —v)* —v(v 4+ 3,5) = 28.

5. BoinmonnuTte neiftcTBuUA:
a) (f2 — 10d)(10d + f2); 0) (u2 — 3u)2; B) (u— 0)2(u + 0)2.

6. PasiomuTe HA MHOMKUTEIN:
a) 100a%c? — 36d%;,  6) 49d*> — (d +7)*;  B) 27v° + m°.

(©A.P.Illectaros, 1994

BAPUAPT 18

1. Ppeo6pazyiiTe B MHOTOUJIEH:
a) (6e — 3)*; B) (9 —2)(g+2);
6) (de + g)%: r) (6g+7f)(6g —7f).

2. Ynpocture Bhipaskenue: (f + s)(f —s) — (5f% — s?).

3. PasiomuTe HA MHOMKUTEIN:
a) 9u? — v 6) v2 + 16vr + 6422,

4. Pemnte ypasuenue: —10 — (2 — v)? = v(7,5 — v).

5. BeimonnuTe neiicTBus:
a) (9g — ) (9g + *); 6) (102" + 2)%; B) (6 + d)*(6 — d)2.

6. PaziosnuTe HA MHOMUTEIN:
a) 3615 — 11—6192; 0) 81¢% — (g + 8)2; B) Y% + mb.

(©A.P.Illectaros, 1994



BAPUAPT 19

1. PpeobpasyiiTe B MHOTI'OUJIEH:
a) (a —6)% B) (69 — 6)(6g + 6);
6) (4a+ 9)*; r) (59 + 4b)(5g — 4b).

2. Ynpocrure Bhipamenue: (f —2)% — (4 —5f).

3. PasiomuTe HA MHOMKUTEIN:
a) 9 — s%; 6) 490% — 14vw + w?.

4. Pemnte ypasuenue: 7 — (3 —t)? = (6,5 — t).

5. BbinodHuTe feiicTBUSA:
a) (92 — 6b)(6b + 92); 6) (10v + 03)2; B) (3 — 6)2(6 + 3)2‘

6. PasiomuTe HA MHOMKUTEIN:
a) 100b* — 64d*f?*; 6) (d —5)> —100; B) v5 —27nS.

(©A.P.Illectaros, 1994

BAPUAPT 20

1. Ppeo6pasyiiTe B MHOTOU/IeH:
a) (8a+4)%  B) (c=5)(c+5);
6) (3a + ¢)% r) (5¢ + 5d)(5¢ — 5d).

2. Ynpoctute Bbipasenue: (g + w)(g —w) — (g% + 5w?).

3. Pasio;uTe Ha MHOMUTEIIN:
a) 36y* — 0,64; 6) w? + 18w + 812

4. Pemnte ypasuenue: (2 —t)* — t(t +4,5) = 46,5.

5. BeimonnuTe neiicTBus:
a) (5e — d*)(5e + d?); 6) (u— 2u’)% B) (u+a)*(u—a)

0. Pasznomxure Ha MHOMKUTENU:
a) 7/ — 0,25a%  6) (g+ 10)* — 100¢%  B) 25 — 64n®.

(©A.P.Illectaros, 1994



BAPUAPT 21

1. PpeobpasyiiTe B MHOTI'OUJIEH:
a) (d+7)%  B) (29— 3)(29 +3);
6) (4d — 8)% r) (2g + 5e)(2g — Se).

2. Ynpocrure Bhipamenue: (a — 6)? — (36 + Ta).

3. PasiomuTe HA MHOMKUTEIN:
a) p* —9; 6) 81y* — 18yv + v

4. Pemnte ypasuenue: (2 —v)* — v(v 4 6) = 54.

5. Boimoanute peficTBuf:
a) (a* = 7d)(7d +a*);  6) (t* — 61)% B) (t = f)*(t+ f)*.

6. PasiomuTe HA MHOMKUTEIN:
a) 16d%* — 36¢°% ©6) 16¢> — (¢ +5)%  B) 64u® +m”.

(©A.P.Illectaros, 1994

BAPUAPT 22

1. PpeobpasyiiTe B MHOTrOU/IeH:
a) (6d — 6)% B) (b—8)(b+38);
6) (7d + b)% r) (4b+ 3e)(4b — 3e).

2. Ynpocture Bbipaskenue: (b+ w)(b— w) — (7h? — w?).

3. PasiomuTe HA MHOMKUTEIN:
a) 64p* — w?; 6) w? + 8wq + 16¢>.

4. Pemnte ypasuenue: 99 — (7 — x)* = x(4 — ).

5. Beinonuure neiicTBus:
a) (10a — f*)(10a + f?); 6) (4t* 4+ 1) B) (94 ¢)*(9 —9)*.

6. PasiomuTe HA MHOMKUTEIN:
a) 16¢° — 61—462; 6) 640 — (b+ 10)%  B) v’ +m”.

(©A.P.Illectaros, 1994



BAPUAPT 23

1. PpeobBpasyiiTe B MHOTOU/ICH:
a) (d—4)%  B) (3¢ =2)(3c +2);
6) (8d + c)?; r) (7c+ 4e)(7c — 4e).

2. Ynpocrure Bhipamenue: (g — 4)? — (16 — 2g).

3. Pasio;uTe Ha MHOMUTEIIN:
a) 9 — q* 6) 100s* — 20sp + p°.

4. Pemnte ypasuenue: 16,5 — (3 —t)? = ¢(3,5 — ).

5. BeimoaauTe neiicTBUA:
a) (¢* — 8d)(8d + ¢°); 6) (Tv+v')% B) (7T —a)’(a+7)°

6. PasiomuTe HA MHOMKUTEIN:
a) 49d° — 16e%b*;  6) (e —6)* —49; B) v° —27n3,

(©A.P.Illectaros, 1994

BAPHUAPT 24

1. PpeobpasyiiTe B MHOTrOU/IeH:
a) 2c+3)% B) (b=8)(b+8);
6) (6¢+ b)?; r) (4b+ 3a)(4b — 3a).

2. Ynpocture Bhipaskenue: (e + v)(e —v) — (e? + Tv?).

3. Pasio;uTe Ha MHOMUTEIIN:
a) 36w? — 0,25; 6) s? + 14st + 49¢2,

4. Pemure ypasnenue: (8 —y)> —y(y + 3,5) = 25.

5. BeinonHuTe neiicTBuA:
a) (10d — b°)(10d + b%): 6) (y — 9yhH)% B) (y+ f)*(y — f)*.

6. PasznokuTe Ha MHOMKUTEIN:
a) 7c9° — 0,09¢%  6) (c+ 7)? — 16¢*;  B) t® — 125n°.

(©A.P.Illectaros, 1994



BAPUAPT 25

1. PpeobpasyiiTe B MHOTrOU/IEH:
a) (c+6)%  B) (2f =3)(2f +3);
6) (7c — 8)% r) (4f +7a)(4f — 7a).

2. Ynpocrure Bhipasenue: (f —5)% — (25 + 7f).

3. PasiomuTe HA MHOMKUTEIN:
a) y* — 25; 6) 1005 — 20sq + ¢*.

4. Pemute ypasuenue: (4 — ) — x(x +4) = 16.

5. Beinonuure neiicTBus:
a) (f? —4b)(4b+ f*); 6) (v* —6v)%; B) (v—g)*(v+g)*

6. PasiomuTe HA MHOMKUTEIN:
a) 36c2d* — 25a%  6) 64a* — (a + 10)%;  B) 275 +n’.

(©A.P.Illectaros, 1994

BAPUAPT 26

1. PpeoGpasyiiTe B MHOI'0U/IEH:
a) (8g—8)%  B) (a=T)(a+7);
6) (39 + a)% r) (8a+5f)(8a —5f).
2. Ynpoctute Bbipasenue: (¢ + w)(c —w) — (8¢* — w?).

3. PasiomuTe HA MHOMKUTEIN:
a) 9a? — t?; 6) t* + 16tq + 64¢>.

4. Pemnte ypasuenue: 9.5 — (4 — u)? = u(1,5 — u).

5. BeimoaauTe neiicTBUA:
a) (10c — a?)(10c + a®); 6) (4y° 4+ y)* B) (64 £)*(6 - f).

6. PasioskuTe Ha MHOMUTEIIN:
a) 365 — 1g%  6) 4 — (c+9)%  B) y? + mS.

(©A.P.Illectaros, 1994



BAPUAPT 27

1. PpeobBpasyiiTe B MHOTOU/ICH:
a) (f=2)%  B) (2c-2)(2c+2);
6) (7f + )% r) (5¢ 4+ 7e)(be — Te).

2. Ynpocrure Bhipamenue: (¢ — 3)? — (9 — 7c).

3. PasiomuTe HA MHOMKUTEIN:
a) 81 — p?; 6) 81r% — 18rx + 2.

4. Pemnte ypasuenue: 21,5 — (3 — w)? = w(3,5 — w).

5. BeimoaauTe neiicTBUA:
a) (a> —99)(9g + a*); 6) (7o + 2%)% B) (6 —¢)*(c+6)".

6. PasiomuTe HA MHOMKUTEIN:
a) 100c¢® — 64¢d*;  6) (g —5)* —100; B) ub — 27nb.

(©A.P.Illectaros, 1994

BAPUAPT 28

1. PpeobpasyiiTe B MHOTOU/IEH:
a) (3¢ +8)%  B) (a—2)(a+2);
6) (2¢ + a)?; r) (6a + 6¢)(6a — 6¢).

2. Ynpocture Bbipaskenue: (d + s)(d — s) — (d? + 3s%).

3. PasiomuTe HA MHOMKUTEIN:
a) 25w? — 1; 6) v2 + 18vx + 8122,

4. Pemnre ypasuenue: (6 —y)* —y(y +7) = 36.

5. BeimonnuTe neiicTBus:
a) (Te — a?)(7e + a?); 6) (v — 50v%)% B) (v+c)*(v—c)2

6. PaznomuTe Ha MHOMKUTENN:

a) 7ga? — 0,640%  6) (c+10)* — 16¢%  B) u’ — 64nS.

(©A.P.Illectaros, 1994



BAPUAPT 29

1. PpeobpasyiiTe B MHOTrOU/IEH:
a) (9+2)%  8) (5e—4)(5c+4);
6) (69 — 3)%; r) (3¢ + 5b)(3c — 5b).

2. Ynpocrure Bhipamenue: (a — 5)? — (25 + 4a).

3. PasiomuTe HA MHOMKUTEIN:
a) w? — 100; 6) 64t% — 16tq + ¢°.

4. Pemute ypasuenue: (5 — ) —x(x + 1) = 58.

5. BeimonnuTe neiicTBus:
a) (2 —10g)(10g + €?); 6) (1 — 7t)% B) (t —c)%(t + c)%

6. PasiomuTe HA MHOMKUTEIN:
a) 100e*c* — 25¢5%;  6) 649> — (¢ +6)*;  B) 2707 + m°.
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BAPHUAPT 30

1. PpeoGpasyiiTe B MHOI'0U/IEH:
a) (50 — 6)% B) (d—5)(d+5);
6) (5b+ d)%; r) (6d + 8¢)(6d — 8c¢).
2. Ynpoctute Bbipasenue: (¢ + x)(c — x) — (8% — 2?).

3. PasiomuTe HA MHOMKUTEIN:
a) 81y* — p*; 6) p> + 14px + 4922

4. Pemnte ypasuenue: 4 — (3 — w)? = w(7 — w).

5. BeimonnuTe neiicTBus:
a) (6b — e?)(6b + €?); 6) (92° + x)%; B) (5+d)*(5 —d)>.

6. PasiomuTe HA MHOMKUTEIN:
a) 25b° — 31—662; 6) 16a* — (a + 10)%;  B) 29 + n°.
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